Al = 0l & AFE B Al A

20249 =& 1 3 LBSIA A2l Z Mt

Il

SH UTRIZE D
Mo TSR EASH AR - EAIIAL K/ MATE - DEF)
CHol: MEAFEAMNH

2A - HH - H(SH) - MRAIY - BES Ol AkH J &3 o Hws2
EIpNEIEEpA 29,365,280 27,046,680 2,318,600
=2 263,268 80,743 182,525
= 5,145,521 1,625,544 3,519,977
bl 81,000 49,000 32,000
< 3,886,742 2,618,774 1,267,968
Al 16,996,893 14,650,763 2,346,130
CH 147,000 147,000 0
= 2,844,856 7,874,856 5,030,000
NABMSEH A - SAILLHHR/AHEE - NEF}) 19,259,464 18,764,923 494,541
= 19,393 10,868 8,525
= 4,301,000 795,000 3,506,000
[= 1,900,553 1,108,285 792,268
Al 10,868,518 9,150,770 1,717,748
= 2,170,000 7,700,000 5,530,000
HEAZEZINA 2,643,363 2,541,537 101,826
= 795,000 795,000 0
< 519,174 549,332 30,158
Al 1,159, 189 1,197,205 A38,016
= 170,000 0 170,000
(2)F=Xed e AL 1,470,000 1,300,000 170,000
= 780,000 780,000 0
Al 520,000 520,000 0
= 170,000 0 170,000
401 Al&HIL S0 1,470,000 1,300,000 170,000
= 780,000 780,000 0
Al 520,000 520,000 0
= 170,000 0 170,000
01 Al&H] 1,470,000 1,300,000 170,000
O3IEZUMAE =XE =4 A
AA 1,470,000,0002 1,470,000 1,300,000 170,000
= 780,000 780,000 0
Al 520,000 520,000 0
= 170,000 0 170,000
(Z)HEABSAILNE 152,923 277,597 N124,674
[ 50,974 92,532 A41,558
Al 101,949 185,065 n83,116
401 Al&HIL S0 152,923 277,597 N124,674
< 50,974 92,532 ~41,558
Al 101,949 185,065 183,116
01 Al&H] 152,923 277,597 N124,674
OFHEAE =S AL NESAIL(SEAIE 2| 402)
A 152,923,000 152,923 277,597 AN124,674
< 50,974 92,532 ~41,558
Al 101,949 185,065 N83,116




2A:
T ZH -
o /e

chel:

2 X2l Al

NAZHEESHAY - SAIILLNER/AHEE - DESH

SSAEZ N

2A - EH - O2(3) - NRAY - BAS O kol J| & o HImE2
(Z)SHSANE SHAL(2IIEERI) 92,500 36,000 56,500
== 22,200 10,800 11,400
Al 70,300 25,200 45,100
308 AtXISHMIS0I& 92,500 36,000 56,500
< 22,200 10,800 11,400
Al 70,300 25,200 45,100
13 SISO B A ELAEAIS Y] 92,500 36,000 56,500
OSHSAE SHAL(CIXENSAH)
AH 92,500,000 92,500 36,000 56,500
< 22,200 10,800 11,400
Al 70,300 25,200 45,100
SANE & XNSZHELst 16,502, 181 16, 155,216 346,965
= 3,506,000 0 3,506,000
< 1,367,709 551,253 816,456
Al 9,628,472 7,903,963 1,724,509
= 2,000,000 7,700,000 5,700,000
ZEXNE L HEANE 45} 113,539 127,520 13,981
201 LE23H| 62,115 65,560 A3,445
01 At22t2ld| 52,115 55,560 A3,445
ONSAIE Y AFI} S453F F=E(0arEZ)
ZE 4,500,000 4,500 5,000 A500
OXSAIE 2| HHt2U HE - 2 (0arE2)
Z2& 11,880,000& 11,880 13,200 1,320
OXSAZ HEI| T HME - 2(0fl A=)
AA 4,320,000 4,320 4,800 A480
ONSAIE 243 40 M - 2 (0aEZ)
ZE 1,404,000 1,404 1,560 AN 156
OZSAE =& HAEX(S2AX) R (0AEZ)
Z2& 2,011,000& 2,011 3,000 A989
301 et Z 8,424 9,360 A936
11 EALHIXIRZ 8,424 9,360 A936
ONEANE Ed3st 9Ets], Aas, EE3| &It Al
Sa(olaEZ)
ZE 4,212,000 4,212 4,680 AN468
ONSAIE 243 A& ASH(ol A=)
Z2& 4,212,000& 4,212 4,680 A468
307 212t01™ 22,000 31,600 29,600
02 CIZHEAAIRIE X 22,000 31,600 29,600
ONEAT SHEiAL 2 EE TJA(BXS 80%)
(22N A2 AR 02 0 9,600 29,600
(2IXNSAILAER L3 X2 9,000,000 0 9,000,000
s 3,500,000 0 3,500,000
== 1,050,000 0 1,050,000
Al 2,450,000 0 2,450,000
= 2,000,000 0 2,000,000




L ATRIZH D
B XIGHRIELBH L -
o FMEAIF o XSARIES

\-OII

AJ LR/ AHEE - DTS}

SA B SR(E) - HRAY - A2 L Il H o HRE2
301 EtEEZ 9,000,000 0 9,000,000
= 3,500,000 0 3,500,000
< 1,050,000 0 1,050,000
Al 2,450,000 0 2,450,000
= 2,000,000 0 2,000,000
14 JIEtE&E 9,000,000 0 9,000,000
O‘”"MZ‘%MOF IBX(MSAIY B4
()X 2ha XIA"0IA)
89,000,000, 0002 *10% 8,900,000 0 8,900,000
= 3,500,000 0 3,500,000
== 1,050,000 0 1,050,000
Al 2,450,000 0 2,450,000
= 1,900,000 0 1,900,000
OgF=Atetat SOIBH(AI21 SSEAY)
(HISAIY S S)XNSGAZAEA 2e XI2"0lIA)
1,000,000, 000 *10% 100,000 0 100,000
= 100,000 0 100,000
(D)X EAHAERA & 0 9,000,000 9,000,000
== 0 390,000 390,000
Al 0 910,000 910,000
= 0 7,700,000 A7,700,000
301 LEt2d= 0 9,000,000 29,000,000
== 0 390,000 390,000
Al 0 910,000 910,000
= 0 7,700,000 A7,700,000
14 J|Et243 0 9,000,000 29,000,000
OYFA & ol BN(MPAY HE
"(Z)XISE A 2El XA'CR)
323 03 0 8,900,000 8,900,000
< 0 390,000 390,000
Al 0 910,000 910,000
= 0 7,600,000 A7,600,000
OZ AL EHE BH(ANSD EHAIY)
(HIRAIE HE: " (Z2)XSAIZHAZA g8l X"2Z)
323 03 0 100,000 100,000
= 0 100,000 100,000
(D)HSAIE &4 A 78,480 156,960 78,480
< 23,544 47,088 N23,544
Al 54,936 109,872 AB4,936
307 212t01™ 78,480 156,960 AT78,480
< 23,544 47,088 N23,544
Al 54,936 109,872 254,936
02 QI AALS 78,480 156,960 AT78,480
ONSAIE d=ZL0LIM 2
AX 2,180,000%*12)H%*3JH¢ 78,480 156,960 78,480




2A:

2 X2l Al

HE: XNAEMELS (A - SAILHLHHX/MEEE - DEF)
£l MSAY 2 NS EA (S| : &S
SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
= 23,544 47,088 23,544
Al 54,936 109,872 54,936
4230 SEHKIAEEH 29 787,700 784,100 3,600
301 EtEEZ 15,200 11,600 3,600
14 JIEtE&Z 15,200 11,600 3,600
OAZSEXRHE 22 A7 X3 X
15,200 11,600 3,600
—ZMCH XN 900,000 *4 T <427 14,400 10,800 3,600
SRS RAl 2 42,960 49,668 26,708
201 et 3| 32,960 49,668 /16,708
01 At22teld| 26,960 28,668 A1,708
O3REUE HAZA(MAEZ)
AA 11,606,000 11,606 12,896 21,290
OSREAHZE == (0arE2)
Z2& 3,754,000 3,754 4,172 A418
02 2224l 6,000 21,000 15,000
OSKREHE HHED| P A SH(ESY A)
323 03 0 15,000 /15,000
401 Al EHIZL LY 10,000 0 10,000
01 Al&H| 10,000 0 10,000
OBREHE MEE BB
10,000, 0002 1Al 10,000 0 10,000
HEAIE L AEIF 2435 AL (2IEEXH) 32,534 0 32,534
307 212t01™ 32,534 0 32,534
02 QIRHEAAMEE R 32,534 0 32,534
OAEASINIIXI KA (8IHA)
325,340,000 *10/100 32,534 0 32,534
L4E HEFE SHAMY KA 40,000 0 40,000
308 XXM SO 40,000 0 40,000
13 B2 S0ICHEHE A X LAY 40,000 0 40,000
OL4E H=FE SEMS
40,000, 000210 2 40,000 0 40,000
(IXNSAILAERH DX (HEIHE A T~A) 10,000 0 10,000
s 6,000 0 6,000
Al 4,000 0 4,000
301 Let2d= 10,000 0 10,000
s 6,000 0 6,000
Al 4,000 0 4,000
14 JIEIE A2 10,000 0 10,000
OYFAHAEA 8ol B (FshA A FIt ol
KI&) 200,000, 000& *5% 10,000 0 10,000
= 6,000 0 6,000
Al 4,000 0 4,000
(D) AAB0 L&A 0l0I2S KA 360,000 0 360,000




2A:

2 X2l Al

A XNSLHELSH (ALY - SAIGLHEXI/AMGEE - D&
SR MSAE & XFFMELF EEEEN
SA BB SR(E) - HRAY - BES Ofl kot J| & o Hnz2
= 180,000 0 180,000
Al 180,000 0 180,000
308 KtXISHMS0I& 360,000 0 360,000
= 180,000 0 180,000
Al 180,000 0 180,000
13 B2 SOCHEHE A E 2 ALY 360,000 0 360,000
OAa32l S4tEY 0012 XA
360,000,000 *1A! 360,000 0 360,000
= 180,000 0 180,000
Al 180,000 0 180,000
el 2MEE 113,920 68,170 45,750
= 19,393 10,868 8,525
= 13,670 7,700 5,970
Al 80,857 49,602 31,255
S22 15,945 16,650 AT705
201 et 3| 6,345 7,050 AT705
01 AtR2elt] 6,345 7,050 AT705
OMZHASE(0AEZ)
Z& 1,485,000 1,485 1,650 A165
OS2oterd 22| EES20 HIZ(0AIE2)
48 540,000 540 600 AB0
OSIHRARS| & MRS A S (0AE2)
43 2,700,000& 2,700 3,000 2300
OSSHAMUNMFO|G| & +H(HAEY)
ZA 1,620,0002 1,620 1,800 A180
(2)2024 =5HIHA A EMGE NRAIS(BHER) 28,415 0 28,415
= 8,525 0 8,525
< 5,970 0 5,970
Al 13,920 0 13,920
301 Let2d= 28,415 0 28,415
= 8,525 0 8,525
< 5,970 0 5,970
Al 13,920 0 13,920
14 J|Et243 28,415 0 28,415
O=sHG A EHSIXIR(HEE)
28,415,000 %14l 28,415 0 28,415
= 8,525 0 8,525
< 5,970 0 5,970
Al 13,920 0 13,920
A A KR 18,040 0 18,040
301 Let2d= 18,040 0 18,040
14 J|Et243 18,040 0 18,040
OFetHAIA ASH QHEE FIOHKIA
410,000& *44 4 2 18,040 0 18,040




M LXeIZH
M UK >SHE (MY - SAISLAE X/ HIEHRIZLRRO0L)
=]

Eelr HIUXIHN 2 ZZHM CEEEN
SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST

HUX +=3erd (A - SAILLAHEX/HE KT LXH2OHE) 5,572,480 4,772,480 800,000

= 25,875 16,875 9,000

I 81,000 49,000 32,000

= 901,568 898,868 2,700

Al 4,064,037 3,807,737 256,300

= 500,000 0 500,000

ORIt Y S 5,540,480 4,772,480 768,000

= 25,875 16,875 9,000

I 49,000 49,000 0

= 901,568 898,868 2,700

Al 4,064,037 3,807,737 256,300

= 500,000 0 500,000

(SILPCAE MBI ZT Z AL 1,881,374 1,381,374 500,000

= 180,000 180,000 0

Al 1,201,374 1,201,374 0

= 500,000 0 500,000

402 QIZERHE0| A 1,881,374 1,381,374 500,000

= 180,000 180,000 0

Al 1,201,374 1,201,374 0

= 500,000 0 500,000

02 CIZEXI=2 AL B (0| M THS) 1,881,374 1,381,374 500,000

OsHELPGASENEE T B=AS

2 1,881,374,000 1,881,374 1,381,374 500,000

= 180,000 180,000 0

Al 1,201,374 1,201,374 0

= 500,000 0 500,000

(DILPGEIIMNEINTAIEINEMNL (EX) 51,750 33,750 18,000

= 25,875 16,875 9,000

= 7,763 5,063 2,700

Al 18,112 11,812 6,300

403 XX SIS KH201& 51,750 33,750 18,000

= 25,875 16,875 9,000

= 7,763 5,063 2,700

Al 18,112 11,812 6,300

02 I 2SS N2 AE AL 51,750 33,750 18,000

OLPGEIIALZ It AlEIHE ALY

A 225 000 %2300} 51,750 33,750 18,000

= 25,875 16,875 9,000

= 7,763 5,063 2,700

Al 18,112 11,812 6,300

SADIA B3 A 290,000 40,000 250,000

402 CIZHRHE0|N 290,000 40,000 250,000

01 CIZEXH= A B2 (XERITHE) 290,000 40,000 250,000




SA: ZAeIEH
A UK 2E (MY - SA
=l O XIoHE & SZHA

=

Enwli=c= XV [EINVAGIEPNE= =Dl =)

SA - BB ORI(E]) - HRAY - B Ofl kot = Hnz2
OF AN TADIA ESAIE(BXES HH)
250,000,000 *1A! 250,000 0 250,000
YEAFHISE 2] 32,000 0 32,000
J| 32,000 0 32,000
(D)LHLZFHIS X2ALS 32,000 0 32,000
J| 32,000 0 32,000
402 QIZERHE0|A 32,000 0 32,000
J| 32,000 0 32,000
02 CIZEXI= AL B (0| M THS) 32,000 0 32,000
OLMAFTHIAX ML (B EGF)
16,000,000 x 14! 16,000 0 16,000
J| 16,000 0 16,000
OLMAFTHIAX ML (B EE )
16,000, 0002 1Al 16,000 0 16,000
J| 16,000 0 16,000
U2 L HEAXR(AMEIEX/ = S) 4,374,630 3,402,173 972,457
= 218,000 53,000 165,000
= 844,521 830,544 13,977
< 1,084,621 611,621 473,000
Al 1,905,632 1,585,152 320,480
CH 147,000 147,000 0
= 174,856 174,856 0
Xt &HE N2AS 2,403,894 2,203,334 200,560
= 660,655 675,655 A15,000
< 555, 142 451,642 103,500
Al 1,013,241 901,181 112,060
= 174,856 174,856 0
FH Y AHerd XA 25,260 20,700 4,560
401 AIEBIZL S008I 6,000 800 5,200
01 Al&H| 6,000 800 5,200
OZFAl FHSXJALE HEY FH| CCTV X
ZA 6,000,000 6,000 800 5,200
405 KHAHE S| 5,760 6,400 2640
01 AL =SS FHSHI 5,760 6,400 2640
OZFAl FSXI2HE A ME PC 2 (0IAEZ
5,760 6,400 AB40
—dA3as A 1,170,000 ~4CH 4,680 5,200 AB20
—2LIH 2 270,000 *4CH 1,080 1,200 A 120
()&= A8 HIZLIA FEUR2| A 56,980 56,980 0
= 26,280 26,280 0
< 9,520 9,520 0
Al 21,180 21,180 0
301 LEt2d= 9,570 9,570 0
< 2,980 2,980 0




D 2Rl Z A
Q

CXelAY & HEXIA(MIIEX/ ES)
C Xl E3E K2 A

SA - B G(3) - HRAY - BES Ofl Aot )l 3o HimE2
Al 6,590 6,590 0
01 ASIBEE2HS(2DEZME) 9,570 0 9,570
O&= A& HI=UA HEUXZ! A (HERIES)
(H=SZH"ASI S &R 262 (K ZTH2) "0l A)
9,570,000 % 14! 9,570 0 9,570
< 2,980 0 2,980
Al 6,590 0 6,590
03 MBI BEX52(XILTHA) 0 9,570 29,570
OZS A8 HIZLIA FAAT 2| AFS(ERRIESB)
(ASZH:"ASIBEESGS(2REEMUR)"2Z2)
2E 0 0 9,570 A9,570
== 0 2,980 A2,980
Al 0 6,590 26,590
(2)01201e SEAY 20,000 50,000 30,000
s 10,000 25,000 15,000
== 3,000 7,500 24,500
Al 7,000 17,500 210,500
307 212t01 & 20,000 50,000 A30,000
s 10,000 25,000 /15,000
== 3,000 7,500 24,500
Al 7,000 17,500 210,500
02 QIRHBAIAHE R 20,000 50,000 A30,000
OE21g SHAH
2 20,000,000 20,000 50,000 A30,000
= 10,000 25,000 A15,000
== 3,000 7,500 24,500
Al 7,000 17,500 210,500
(Z2)AZ S3t &S Xl X A 176,000 0 176,000
== 88,000 0 88,000
Al 88,000 0 88,000
307 212t01 & 176,000 0 176,000
< 88,000 0 88,000
Al 88,000 0 88,000
02 QIRHEAAMEE R 176,000 0 176,000
OAlZ S35 &t 22| XI& AFS(FJ LT AIR)
76,000,000 %1 Al 76,000 0 76,000
== 38,000 0 38,000
Al 38,000 0 38,000
OXIEE DEXA AL (FIHEAN AIB)
100,000,000 %1 Al 100,000 0 100,000
< 50,000 0 50,000
Al 50,000 0 50,000
(DU LRI Z2HAEEH X (2T XIA) 50,000 0 50,000
< 20,000 0 20,000
Al 30,000 0 30,000




2A:
T ZH -
o /e

cH):

2 X2l Al
Q

2ACITEE NSA

AR2IAMY L HAXIR(ARIER/ =S

=)

SA BB SR(E) - HRAY - BES Ofl kot J| & o HimE2
307 212t01 & 50,000 0 50,000
= 20,000 0 20,000
Al 30,000 0 30,000
02 QIRHBAIAMHE R 50,000 0 50,000
OUlistd el S AaHEH XA
50,000,000 50,000 0 50,000
= 20,000 0 20,000
Al 30,000 0 30,000
HFEEM XA 1,970,736 1,198,839 771,897
= 218,000 53,000 165,000
= 183,866 154,889 28,977
= 529,479 159,979 369,500
Al 892,391 683,971 208,420
CH 147,000 147,000 0
(=2)HEIZLCIAHOIE XM (N E=EEHAE AU 116,295 143,676 N27,381
AH)
s 46,900 53,725 6,825
Al 69,395 89,951 A20,556
307 212t01& 116,295 143,676 A27,381
s 46,900 53,725 6,825
Al 69,395 89,951 N20,556
02 QIRHBAIAHEE R 116,295 143,676 A27,381
O&EEEY CIRHIOIE XA
AX 116,295,000 116,295 143,676 A27,381
s 46,900 53,725 26,825
Al 69,395 89,951 220,556
(I LY LT AMN (XSG FCEHIUTI2IALY) 146,687 50,076 96,611
s 56,378 20,576 35,802
Al 90,309 29,500 60,809
307 212t01 & 146,687 50,076 96,611
s 56,378 20,576 35,802
Al 90,309 29,500 60,809
02 QIRHBAIAHE R 146,687 50,076 96,611
OFEEY digd XA
2 146,687,000 146,687 50,076 9%,611
= 56,378 20,576 35,802
Al 90,309 29,500 60,809
(2)HEASNIXIAAS 398,000 88,000 310,000
= 199,000 44,000 155,000
= 59,700 13,200 46,500
Al 139,300 30,800 108,500
301 Let2d= 398,000 88,000 310,000
= 199,000 44,000 155,000




2A:
X ZH
S

IHEIE) I
ATIZIAIY & HERI(ASIZX/ = S)
HAZH T2

SA - B G(3) - HRAY - BES Ofl kot )l 3o HimE2
= 59,700 13,200 46,500
Al 139,300 30,800 108,500
01 MBIBEE G2 (ZNEXTHR) 398,000 88,000 310,000
OEEFEM XI&AH
23X 398,000,000 393,000 88,000 310,000
= 199,000 44,000 155,000
== 59,700 13,200 46,500
Al 139,300 30,800 108,500
(D)HAEN B SIS ESES 22 A 38,000 18,000 20,000
= 19,000 9,000 10,000
== 5,700 2,700 3,000
Al 13,300 6,300 7,000
301 EtEEZ 38,000 18,000 20,000
= 19,000 9,000 10,000
< 5,700 2,700 3,000
Al 13,300 6,300 7,000
01 ASIBEE2HS(2DEZME) 38,000 18,000 20,000
OFY MNSEZEEEE B3= AJAY
23 38,000,0002 38,000 18,000 20,000
= 19,000 9,000 10,000
< 5,700 2,700 3,000
Al 13,300 6,300 7,000
(D)HALT2| 2 £28 Z2HE 66,667 0 66,667
== 20,000 0 20,000
Al 46,667 0 46,667
307 212t01& 66,667 0 66,667
== 20,000 0 20,000
Al 46,667 0 46,667
02 QIRHBAIAHEE R 66,667 0 66,667
OEELNE| 2 £]6@ TZHE
66,667,000 14 66,667 0 66,667
< 20,000 0 20,000
Al 46,667 0 46,667
HIOIHAHOIA SHAS (2IEEXIA) 6,000 0 6,000
307 212t01 A 6,000 0 6,000
02 QIZHEAAIRIE X 6,000 0 6,000
OHNIOIHAHIOIA 2HAS
6,000,000 *1A! 6,000 0 6,000
(Z)ZS40| HHAEA 25 300,000 0 300,000
< 300,000 0 300,000
307 212t01™ 300,000 0 300,000
== 300,000 0 300,000
02 QIPBAASEEE 300,000 0 300,000




A LX2IZMD
M dX2IAMG & HEXJ ARSI/ =S)
Ol HUEFM XY (Crol: )
2AM -3 . S2(3H) - MRAEY - BES 04| At Jl & o Hns2
OZ220| 2Hded 2(FI4EH AE)
300,000,000 *1A! 300,000 0 300,000
[= 300,000 0 300,000
THREE (LRI Z D) (A - SAIALUU X/ A - A 51,602 0 51,602
Jleiglet)
SN 51,602 0 51,602
BAXIE 51,602 0 51,602
802 BH&t=D|EF 51,602 0 51,602
01 2DBXRIEEZ 41,188 0 41,188
020223 = 851 0 851
—dEEY g XA
1,600R* 14! 2 0 2
—HEAZN e XRAFZ(0IK})
167,220 %1 Al 168 168
S EI=EIpCIIE 595, 9502+1 1 5% 5%
— X GetAA T2 AP (O] K})
84,860 1Al 85 85
020208 & 40,337 40,337
—SIMLSAIE &AX A
40,090,850 %1 Al 40,091 0 40,091
—SHHLHAIE EXI AFZ(0IAH)
245, 8602 %14l 246 246
02 Al - SHIEXZ28a=2 10,414 10,414
020234 & 9,782 9,782
—HEAE CEALHES A
4,304,390 % 14! 4,305 0 4,305
—NEAE SEAENBE AFZ(O0IRH
12,7802%1 Al 13 0 13
—SHHOHEAIE A X AFI(OIX})
19, 74024 %14 20 0 20
—NEAIZE SHHZ2H K& AIS
3,334,970 % 14! 3,335 0 3,335
—HSAIE SHHESH XIS AL (01X
7,640 1Al 8 0 8
—HSAE A=A MUK 2SAIY
2,092,420 %14l 2,093 0 2,093
—NHEANZ HEHAS LN SGAF(OIR)
7, 7002141 8 8
020223 = 632 632
—HSAE AESUG AL
418,5102x 14l 419 0 419
—HEAE AIESUHE AFZ(0IX})
3,510&%14] 4 4
— KL AUR2| AL 178,790 %1 Al 179 179
—XlgetA T2 AP (01 KH)
29,7002 %1 Al 30 0 30




